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B.Com. (Hons.) DEGREE EXAMINATION, NOVEMBER 2016.
III YEAR — V SEMESTER

Major Paper XXI — COST ACCOUNTING
Time : 3 hours
      Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer ALL the questions.
1. What is prime cost?

2. Define opportunity cost.

3. What is marginal costing?

4. Two components A and B are used as follows:

Normal usage

50 units per week each

Minimum usage

25 units each per week

Maximum usage

75 units per week each

Re – order quantity
A: 300 units; B: 500 units

Re – order

A: 4 to 6 weeks; B: 2 to 4 weeks 

Calculate for each component Re – order level.

5. From the following particulars calculate EOQ

Monthly usage – 
300 units

Buying cost
 – 
`4 per order

Cost per unit 
– 
` 0.64

Storage cost
 – 
50% p.a

6. Calculate the earnings of a worker under Halsey plan:

Standard time – 36 hours

Actual time – 30 hours

Rate per hour – `20/-

7. Standard time allotted for a job is 20 hours and the rate per hour is `1 plus a dearness allowance @ 30 paise per hour worked. The actual time taken by a worker is 15 hours. Calculate the earnings under piece – wage system.

8. What do you mean by over time?

9. Calculate selling overhead:

Works cost: `60, 000; Office overhead: `5, 000

Selling overhead to works cost in the previous year was 25%

10. What do you mean by ABC analysis?

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

11. Distinguish between Financial accounting and Cost accounting.
12. An employee working under a bonus scheme saves time in a job for which the standard time is 60 hours. Calculate the rate per hour worked and wages payable to a worker, if incentive bonus of 10% on the hourly rate is payable, when standard time (viz. 100% efficiency) is achieved and a further incentive bonus of 1% on hourly rate for each 1% in excess of the 100% efficiency is payable. Assume that normal rate of payment is `5 per hour. Actual time taken is 50 hours.
13. The following are the details of cost incurred in respect of production department of a factory.

	Particulars
	Job no.102
`
	Job no.103
`
	Job no.104
`

	Direct materials
	4,000
	4,000
	2,000

	Direct labour
	2,000
	3,000
	3,000

	Direct expenses
	1,000
	1,000
	


The share of the factory overheads of the department comes to `5,000, which is to be apportioned to different jobs on the basis of direct materials used. Find out the share of overheads rate as a percentage to direct materials has been ascertained.
14. The profit and loss account of Banumathy India Pvt. Ltd. for the year 31st March, 1997 is as follows:

	Particulars
	Amount in `.
	Particulars
	Amount in `.

	To Materials
To Wages
	 4,80,000
3,60,000
	By Sales
By Closing Stock
	 9,60,000
1,80,000

	
	
	
	

	To Dt. Expenses
	 2,40,000
	By WIP:

Materials

Wages

Dt. Expenses
	    30,000

    18,000

    12,000

	To Gross profit
	 1,20,000
	
	

	
	12,00,000
	
	12,00,000

	To Administrative Expenses
	      60,000
	By Gross Profit
	1,20,000

	To Net profit
	      60,000
	
	

	
	  1,20,000
	
	 1,20,000


 

As per the cost records the direct expenses have been estimated at a cost on `30 per Kgs. 
and administrative expenses at `15 per kg. The profit as per the costing records is             `1,10,400. During the year 6,000 kg were manufactured and 4,800 kgs were sold.

Prepare a statement of costing profit and loss account and reconcile the profit with the financial records.
15. From the following information, calculate :

(a) Re – order Level

(b) Minimum stock level

(c) Maximum stock level.

Re – order quantity





4000 units

Minimum stock level to allow for emergencies

5 weeks

Average delivery time from suppliers



4 weeks


Maximum stock level allowed by management

20 weeks

Average rate of consumption per week


250 weeks

Minimum consumption in 4 weeks



800 units

16. From the following details draw a plan of ABC Selective Control:

	Item
	Units
	Unit cost in `

	1
	700
	5

	2
	2,400
	3

	3
	1,500
	10

	4
	600
	22

	5
	38,000
	1.5

	6
	40,000
	0.50

	7
	60,000
	0.50

	8
	3,000
	0.20

	9
	300
	3.5

	10
	29000
	8


17. Calculate 


(a)Economic Order Quantity
Annual requirements


 
1, 600 units

Cost of materials per unit


 `40

Cost of placing and receiving the order
 `50

Annual carrying cost of inventory 10% of inventory value.

(b)Material turnover ratio and determine the fast moving material:

	Particulars
	Material X (`.)
	Material Y(`)

	Opening Stock
	25,000
	87,500

	Closing stock
	15,000
	62,500

	Purchases
	1,90,000
	1,25,000


18. Bring out the differences between Stores ledger and Bin card.
SECTION C — (2 × 15 = 30 marks)


Q.No. 19 is compulsory and any ONE from the rest of two questions.
19. From the following particulars you are required to prepare a statement showing 

(a) the cost of materials consumed (b)  the prime cost  (c) the works cost  (d)  the total cost  (e) the percentage of works overhead to productive wages and  (f) the percentage of general    

     overhead to works cost.
	Particulars
	`

	Stock of finished goods on 1.1.1999

Stock of raw materials on 1.1.1999

Purchases of raw materials

Productive wages

Sales of finished goods

Stock of finished goods on 31.12.1999

Stock of raw materials on 31.12.1999

Works overhead charges

Office and general expenses
	72,800
32,280

7,59,200

5,16,880

15,39,200

78,000

35,360

1,29,220

70,161


The company is about to send a tender for a large plant.  The costing department has estimated that the materials required would cost Rs.52,000 and the wages to workmen for making the plant would cost Rs.31,200.  The tender is to be made at a net profit of 20% on the selling price.  Show what the amount of tender would be, if it is based on the above percentages.

20. The following were the receipts and issues of Materials Zed during March 1998

March 
         1
Opening Balance 1100 units at `60 per unit

3 Issued 140 units

4 Issued 250 units

8 Issued 210 units

13 Received from vendor 400 units at `59 per unit

14 Refund of surplus from a work order 30 units at `58 per unit

16 Issued 350 units

20 received from vendor 480 units at `62 per unit

24 Issued 608 units

25 Received from Vendor 640 units at `60 per unit

26 Issued 524 units

28 Refund of Surplus from a work order 24 units (issued on 3rd March, 1998)

31 Received from Vendor 150 units at `64 per unit.


From the above, write the Stores Ledger Account on Simple Average Basis.

21. A manufacturing Concern is divided into four departments A, B, C  are production   

      Departments and X the service Department.

The Actual Expenses for the period are as follows:
   `
Rent






10, 000

Depreciation on Plant




  4, 500

Supervisory expenses




15, 000

Power






  9, 000

Repairs to plant




  6, 000

Lighting Expenses




  1, 000

Fire insurance on stock



  5, 000

Employer’s Liability for Employee’s Insurance
  1, 500

The following information is available in respect of four departments:

	Particulars
	Dept.A
	Dept.B
	Dept.C
	Dept.X

	Area in sq ft
	1500
	1100
	900
	500

	Light points
	15
	11
	9
	5

	No.of Employees
	200
	150
	100
	50

	Total wages in `
	60,000
	40,000
	30,000
	20,000

	Value of plant in `
	2,40,000
	1,80,000
	1,20,000
	60,000

	Value of stock in `
	1,50,000
	90,000
	60,000
	-



Apportion the costs to the various departments on the most equitable method.



[P.T.O.]





[P.T.O.]
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